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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

State the function of spacer in ring frame.
State the function of traveler in ring frame.
State the function of ring in ring frame.

Write down limitation of ring frame machine.
State the object of doubling yarn.

Write down the requirement of good traveller.
Write down the requirement of good spindle.
Give the classification of ring.

Write the advantage of compact spinning.
Which traveler is suitable for antiwedge ring and why?

Explain principle of twisting and winding in ring frame.
OR

Explain traverse motion in ring frame.

Explain the importance of spinning triangle in ring frame.
OR

Write short note on Angle of yarn pull.

Explain the causer and remedies for yarn defect.
OR
Explain the SKF drafting system in ring frame.
Write short note on flange ring.
OR
Draw and explain passage of yarn through doubling frame.

Explain the production of loop yarn.

OR
Explain the bobbin building mechanism in ring frame.
Write short note on spindle drive.

Calculate the production of ring frame machine in kgs & Lbs from the

following data. Spindle speed = 17500 rpm, TPI = 22, Count (Ne) = 30°, No of

spindle = 1000, Efficiency = 92%, Working hours = 8.
Three yarn 30°, 24°, & 20° are folded together find the resultant count.
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